Name:  _________________________________  Date:  _______________________________________

Math I                                                                             Homework


Directions:  Solve the equations by a model.
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6. Tracia and Shelly have the same amount of money to buy shirts.  Each shirt costs the same amount of money.  Tracia buys three shirts and she has $19 left after she has made her purchases.  Shelly buys two shirts and she has $46 left after she has made her purchases.  How much does each shirt cost?
Directions:  Solve the equations by a model.
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6. Patrick’s cell phone plan is $40 per month plus $0.15 per minute of talk time.  If Patrick’s cell phone bill is $58.00, how many minutes did Patrick talk on his cell phone?
CME 2.10:  When Backtracking Does Not Work
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